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from turtle import *
from math import *
setup (800, 600, 300, 200)
pensize(10)
hideturtle ()
speed(10)
color('red")
up ()
goto (=300, 0)
down ()
for 1 in range(618):
x=1
y=sin(1/100) * 200
goto (x-300,y)
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from random import *
Max=0
Min=100
S=0
for 1 in range(10) :
f=randint (0, 100)
print(i+1, £)
S=S+f
if Max<f:
Max=f
if Min>f:
Min=f
print('Max="',Max, ' Min="',Min)
print ("*F¥4: ", (S-Max-Min) /8)
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Tn=0
Sn=[]
n=eval (input('n="))
a=eval (input('a="))
for i in range(n) :
Tn =Tn +a
a=a*x10
Sn.append (Tn)
print(Tn,end="")
if (i<n-1):
print("+",end="")
else:
print("=",end="")
print (sum(Sn)) # sum J 41 &SRk ok AL
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n=eval (input ("#F %A FBLREC: "))
h=eval (input ("IFM AR REE: ™))
s=h
print('n s h')
for i in range(n) :
print(i+1,s,h/2)
s=s+h
h=h/2

+ 178 -



LIS 5% R % =

1. &2 B %

=T RIS TR T 84 2 JE. 1A 4 HED . 2% 7 5w M S
J& 100, A A 55 26569 8 7 B A 2 /0 A ML 0 Q4 1,

2. EF R

for ji in range(51): # % 50 A3
for tu in range(26) : # % 25 A+
if ji* 2+tu* 4==100:
print ("XAHsd K, RFAHsd H"s (31, tu))
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N=eval (input ('N="))
y=[[1]] # B HR 5
for 1 in range(1,N):
s=[1]
for j in range(1,1):
x=yli-1][3-1]+y[i-1][5]
s.append(x)
s.append (1)
y.append(s)
for 1 in range(N) :
print (' '* (10+N-i) * 3,end=" ") # € v Hi
for j in range(i+1):
print('{0:"' '"6}"' .format(y[i][j]) ,end="")
print()
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dicall={1l:'"5K =41, 2: "ZMHAG ", 3: "TER ", 4: "B, 5 " HBET ', \
6: ' EHE)
lst=dicall.keys ()
dic={}
for nin lst:
dic[n]=0
while True:
n=int (input (" ARMLESE 1~6, FA 0, MiBH: \n"))
if n==0:
break
if 1<=n<=6:
dic[n]=dic[n]+1
print()
for n in 1lst:
print('$s \t $d 2£'¢ (dicallln],dic[n]))
print()
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2. BEF KA

N=eval (input ('N="))
for i in range(0,N//2+1) :
for j in range(i+1):
for k in range(i+1):
for 1 in range(i+1):
1f N==i%i+j*% j+k*k+1*1:
print (N, '="', 4, "% ', i, "+',3,"*"',9,"+',k,\
tx 'k, '+, L, x0T, D)
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